Sr Questions Answers Choice

1 S oS S ol el o el IS Clia pad JheS ) 2ok

NI SPETIRILEN

1864
1829
1869
1913

2 LS Gy 088 o Luse

o R
s )
PRI

3 U LS U ()

BETES
BB

o 2]
ETPTS

4 0 U IS (53 500

5 2 018 G G S sy ile () S ) e gt (S e

1864
1829
1869
1830

6 LS i o5l W) a5 CaliSine

7 LS Gl 0588 W) (e i 5 Califine

8 S sl a0 S (e s € el 5 S S i gead o S

9 IS G o L oS 5 e e

10 o g sase S S ga oslE S S s e e
Gl g5l sl
Y& 5
Y4

s os )
e PS

11 = LS 1S 0 g0

YA

Y 5S4l
C.uset
D. w58

WP 0OWr UOWP UOWP» 0UOWP U0Wr UDOEP U0WP U0Wr 00WP» U0WP U0W;

12 = LS (58 S Rl ps



